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INSTRUCTIONS FOR CANDIDATES )

It is mandatory to fill one option for each question.

2. All questions carry equal marks.

3. Only one answer is to be given for each question. If more than
one answers are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet.
When you are directed to open the Question Booklet, take out
the Answer Sheet and fill in the particulars carefully with Blue
Ball Point Pen only.

5. Please correctly fill your Roll Number in OMR Answer Sheet.
Candidates will themselves be responsible for filling wrong
Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
Sheet is strictly forbidden.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8. Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9.  If you are not attempting a question then you have to darken
the circle ‘5. If none of the five circles is darkened, one third
(1/3) part of the marks of question shall be deducted.

10.* After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this. :

11. A candidate who has not darkened any of the five circles in

- more than 10% questions shall be disqualified.

12. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

13. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found

- with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession. F.LR. would be lodged against

himvher in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Aect, 2022 & any other laws

applicable and Commission’s Rules-Regulations. Commission may

also debar him/her permanently from all future examinations.
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How many types of Rudra-Veena
has been described in Sangeet-
Parijat based on the number of
strings of Rudra Veena ?

1) 4 @ 5

(3) 6 @ 17

(5) \ Question not attempted

The serial-action of how many
‘Karana’ has been defined by
Bharat as ‘Angahaar’ ?

(1) More than two

(2) More than three

(3) More than four

(4) More than five :

(5) Question not attempted

In the ‘Aroh’ of which raga the

5 16 S5 16
order of 415 8 4 and 15 Swar-

intervals are used ?

(1) Bhupali (2) Bihag
(3) Malkouns (4) Des
(5) Question not attempted

If the ‘matras’ of first ‘Vibhag' of
Dhamar taal, second ‘Vibhag of
Jhaptal, third Vibhag' of Teevra
and forth Vibhag’ of Deepchandi
are added, then the number of
‘matras’ of which ‘Taal' will be
obtained ?

(1) Punjabi (2) Jhoomra
(3) Ektal (4) Chautal

(5) Question not attempted

What is the sign of ‘Mandra)
according to Sangeet Ratnakar ?

(1) Dot under the ‘swara’
(2) Dot over the ‘swara’
(3) Vertical line over the ‘swara’
(4) Vertical line under the ¢ swara
(5) Question not attempted
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10.

Which statement is false ?
(1) Dance is the expression of
emotion through body acting.

(2) Acting expressed through
clothes and jewellery is
‘Satvik acting’.

(3) ‘Nritta’ is a physical act
without emotion and acting.

(4) Presentation of dialogue
through acting is ‘Natya’.

(5) Question not attempted

“Swara-Samudaya” which shows
the immediate image of SANDHI-
PRAKASH Swaras.

(1) NiSare Ga
(2) ni Sare ga
(3) NiSare ga
(4) NiSaRe Ga
(5) Question not attempted ‘

All the modern  ‘stringed
instruments with frets are the
developed forms of which Veena ?
(1) Chitra Veena

(2) Ektantri Veena

(3) Kinnari Veena

(4) Ravan Hattha

(5) Question not attempted

Which fact is not true regarding

flute ?

(1) The thicker the flute,
lower the pitch will be.

(2) Length of flute is also the
reason for its notes’ low.

(3) Note that comes out when all
the holes of the flute are
closed is — Mandra-Pa.

(4) Separate holes are made to
obtain ‘Komal-Swaras™ on
flute.

(5) Question not attempted

the

Four semi-tones are used in the
‘Aroha’ of which ‘Raga’ ?

(1) Khamaj (2) Bhairav

(3) Bhairavi (4) Yaman

(5) Question not attempted



11.

12.

13.

T (A) : 59 gR 9t F Taw’
H T A W T F WA |
B 2, 3 yhR S 5 g w1
W OHAA W OTHN-UR % R/
T Bid & |

HRU (R) : ‘HAUR-TX gRafdd 6 ®
faftr= Tl % Tl 1w = Hwd
g

1) (A)W(R)aq‘m%“f%t

@ AQEETRYGR) AR |

(3) - (A) 9wl (R) SHi FEAE |

@ A)FEITTFGR)TIR| ©

(5) IAgaid A

aﬁmaaﬁaafﬁaﬁqm/ﬁaww

T2/ ?

A WA % =W FAIHR TR

.53 T R A S0 e A 003 T s

B. SaER-idl syt
C. =gl Steft 9 am= :
D. sR-fid %1 9Em i
E. eWH-pE Wmmﬁa

(1) %A (2 DINE o
3 %sD (4) B, CauD-
(5) e

LRI S———

=1 =1 gafea HIf - |
TSR e
A @A irfi 28 i
B. HmE™ ii. 10 j
C. s 1. 9 ;
D. Ya@ee  iv. 12 f
el g @ -
A-B € D §
(1) 1y ISR T g i

TS Yeibbnt ias i

R TR U b B3 T

11. Assertlon (A) : The notes of

12.

| 13,

Yaman’ can be obtained by

considering Bhairavi’'s

‘Rishabh’ as ‘Sa’, similarly,
the notes of ‘Khamaj-Thaat’
will  be obtained by
considering Bhairavi’s
‘Gandhar’ as ‘Sa’.

Reason (R) : Various ‘ragas’ can

oy

@)

3)
4
(5)

Indicate the facts which are not

be obtained by the change of
‘Tonic’.

(A) and (R) both are true.

(A) is true but (R) is false.

(A) and (R) both are false.

(A) is false but (R) is true.
Question not attempted

true regarding Satriya-dance :

- A

HOQwW

1
3)
®)

Shankaran Nambudripaad is
the famous dancer of this
dance.

Use of Vyaahar-Geet

Similar to Manipuri Dance
Use of Bore-Geet
‘Hast-Mudras’ based on
Natyashastra

Only A (2) D&E

Only D 4 B,C&D
Question not attempted

Match the following :

Musicologist Mela

A. Lochan Y2
B. Somanath i. 10
C. Shreekanth iii. 9
D. Bhatkhande iv. 12
Correct Match is —

1
@)
3
(4)
®)

A B €D
Wil D
da e 3
B v 3
. Ity
Question not attempted
49




e Dt "I lmml esemy o eg 8 MR ML SUnge s o o o ta Dbl e fTEEL o sl

49

15.

16.

17.

it hifsw

(A) T I

(B) figa o1 H quE a
(C) Yoa d Rt 916w @
(D) g TS 2
(1) EdEE  (2) Hea Rt
(3) wRIEM el (4) FERTHE
(5) IFFTING A

freafeafea d 9 ﬁa’r?ﬁ-atlﬁ %maﬁﬁ

= HIf

A HUoTTm
C. HrIm
(1) <aa A
@) CaaD
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(5) S SR
ﬁﬂﬁﬁl’—l‘lﬁm%wﬁaﬁﬂaﬁq
=8 fepan 2, 3 IR - .
A YT B. mw@

C. W D. Wam

(1) HaaB

2) BauiC

(3) A, CaumD

(4) ATaC

(5) IrgaRd I

wﬁaa‘iwﬁaﬁ’?ama%em@féamw
= HifSTT

1) w4, @, s, fift

@) e, e, 3ard, Sfadrd

(3) <A, foRaT, shedl, Hed

(4) g, HETES, Hifhdd, HGHG
(5) I SR

B.  YaId TR0
D. sifdaw™

e S BRI ST 11 b8 TR YOS THARRR S L0k 1 Tl 1801 TR

g A TiAR ) WA TR

15.

16.

1%

14. T=fafaa @& - W‘RW@ i 14. Indicate the artist based on the

following characteristics :

(A) Gamak Anga

(B) Sapaat taan in atidrut laya
(C) Was a sarangi-player in the
beginning

Thumri singer

Inayat Khan

Bheemsen Joshi

Bade Gulam Ali

Kumar Gandharv
Question not attempted

D)
1)
2
3
@
®)

Select the singers of ‘Mewati-
Gharana’ among the following :
A. Mani Ram

B. Pratap Narayan

C. MotiRam

D. Jyoti Ram

(1) Only A

@2 C&D

3 B,C&D

4 ABC&DAI

(5) Question not attempted

Indicate the scholars who have not .

described the Time-theory of Ragas :

A. Sharangdev B. Bhatkhande

C. Bharat D. Matang

(1) Only B @ B&C

3 A C&D @) A&C

(5) Question not attempted

Select the names of 4 ‘Graha’ of

Taal mentioned in Sangeet

Darpana :

(1) Lava,
Nimish

(2) Taal, Vital, Anutal, Pratital

3

Kaal, Kriya, Kala, Kalp
(4) Indraneel, Mahavajra, Kokil,
(5)

Kshna, Kashtha,

Sadanand
Question not attempted




18. I % H9Y H Widled fgexor % 3FER ; 18. Match the following elements

gifera HIf ; related to dance according to
i Bharat :
S s List-I List-II
= ‘m uhid * a. Upangaof 1. Sliding feet
- I S E ﬁ ‘ Aangika forward
fpa ' “' abhinaya’
b. figi s’ II. 2&-91¢ <1 Th : b. Pindi- II. Simultaneous
1Y GETeH ; Bandha’ movements of
. GO II1. Imfes 3 ! hands and feet
i V. 3,9 . ! c. ‘Karan’ - III. Group dance
it ' d. ‘Chaar?’ IV. Eye, Eye-brow
= oo ; Codes :
. : a-—h ¢ d
T TREE

- - 1]
Gl IV S E ol

4y 1 I 1V T

(5) Question not attempted

(b332 13 Sl ST a0 s
@I IF IV J1

(5) 3raRd ¥
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19. aﬁaa%;aqgm(ﬁm 3‘5'15'5'5'@@%?' 19. Match the following Alankaras

i : according to Ahobal :

HAABR L1 : Alankar Swara
a. g I |, R a. Bhadra I. SSGG, RR
b. 98 . @waafy L
c. s IIL aErRE i b. Nand II. SGPN
b IV, . xR, R : c. Abhyuchhaya III. SSRR SS

; d. Akshipt IV. SRS, RGR
e E Codes :
a. b & ¢ 3 > - a

QAT AVEsl - - H
G-IV - Tt
@) b I TH IV
() = IN- = . Woesd

(5) ARG A

(L) alN = ol
(2l mkrs IR HIT
(3) Iallh=dlli IV
DIV = |
(5) Question not attempted
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20.

21.

22.
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20. Assertion (A) : Even if no other

21.

22.

note is used apart from the
notes used in the ‘raga’,
‘tirobhav’ can be done by
using any note in more or less
proportion.

Reason (R) : Keeping the
‘swaroop’ of a ‘raga’ intact is
called ‘Tirobhav'.

(1) (A) and (R) both are true.

(2) (A) is true but (R) is false.

(3) (A) and (R) both are false. -

(4) (A) is false but (R) is true.

(5) Question not attempted

Assertion (A) : Bhatkhande has
 prescribed 7 to 10 o’clock time

for Bhairav-originated ‘ragas’
according to his time-theory.

Reason (R) : Bhatkhande has
determined the order of
‘Thaats’ keeping in mind the
time-theory of ‘Ragas’.

(1) (A) and (R) both are true.

(2) (A) is true but (R) is false.

(3) (A) and (R) both are false.

(4) (A)is false but (R) is true.

(5) Question not attempted

Match the artists of Maihar-
Gharana with their instruments :
Artist Instrument
a. Timir Varan 1. Sitar
b. Indra Neel II. Violin
Bhattacharya
¢. Robin Ghosh  III. Surbahar
d. Annapurna IV. Sarod
Codes: :
a b c d
&y TV THE Tk
(2 AIFE TRV ST I
). ¥ ¥ Ibg:IIE
{4y Alc N, DEgc 1
(5) Question not attempted
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28.
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(1) H=aed

2) fermoy

(3) B

(4) =HHeTEt
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(1) T8 (2) q3,9,9 ¢
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24.

25.

26.

217.

28.

- (2)

In which raga komal Re-Dha, both
Madhyma, both Nishad are used ?

(1) Shivmat Bhairav

(2) Ramkali

(3) Paraj

(4) Ramdasi Malhar

(5) Question not attempted

Which is the Sushir instrument in
Karnataki Panchvadhyam ?

(1) Combu

(2) Timila

(38) Idakka

(4) Ilthalam

(5) Question not attempted

How many Cent and Saverts are in
‘Praman Shruti’ ?

1) 20-4 2) 22-5

3 27-8 4 24-6

(5) Question not attempted
Which author has mentioned three
types of Mel-Sampurn, Shadav,
Audav ?

(1) Nanyadev

(2) Vidyaranya

(3) Ahobal

(4) Vyankatmakhi

(5) Question not attempted

Which are the Anuvadi Swaras of
‘Shadaj’, according to Natyashastra ?
(1) Ga, Ma, Pa

Ma, Pa, Dha

Sa, Ma, Pa, Sa

(4) Re, Ga, Dha, Ni

(5) Question not attempted

What will be the frequency of Ga,
Pa swaras if the frequency of ‘Sa’ is
considered 200 ?

(1) 250-350 (2) 300-375
(3) 250-300 () 225-275
(6) Question not attempted

3

49




30.

s kRt ah ot o e =iy aau e

49

31.

- 32.

33.

R anf ?
(1) 300 (2) 288
3 270 (4) 256

(5) ARG IH

R Gt % R g (Sol) B R, 30.
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1 G
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(1) 48R
(3) wEd

(5) SN 9

(2) T HEeER
(4) SHgh

240 - 288 : 360’ AIT |
' 31,

mwwﬁmwmmﬁaﬁ?ﬁé

. mwﬂa%mmaﬁmm | 29.

| 32.

' 33.

What will be the frequency of

Shuddha Gandhar of Karnatic
music ? ,

(1) 300 (2) 288

(3) 270 (4) 256

(5) Question not attempted

Which of the following term is not
used for the note ‘Sol’ of western
music ?

1 G (2) PerfectV
(3) Super Tonic (4)
(5) Question not attempted

Dominant

What will the chord obtained from
frequency ‘240 : 288 : 360’ be called ?
(1) Major Chord

(2) Minor Chord

(3) Augmented Chord

(4) Diminished Chord

(5) Question not attempted

How many  Shadaj-Pancham
Samvadi pairs are there in the
following phrase of Todi ?

“Q'N S _R_Q,M P _D,”
(1) One (2) Two
(3) Three (4) Four

(5) Question not attempted
_1}_] S G M P — Bhimpalasi,
GMDNDM G — Bageshri,
MD NSRS ND - Khamaj,
NPMPGMRS-Kanhda
Combinding all the above ragas;
denotes which of the following Raga ?
(1) Bahar (2) Miyan Malhar
(3) Basant (4) Jounpuri
(5) Question not attempted

= |




34. Freferfae fgait gro wr wg=nfe -

35.

36.

1.
il
1ii.
iv.
(1)
3)
®)

e — TR TG

Fael Thid T
HTUT 37T 1 T=RT
FHIES F THR

el (2) T@ER
HSHI (4) =Hd

K GIIGREE

AT 9g=T+T :

L.

II.

fMifg--I--—mfi-—77
ni—

twfagfi- w gf— imﬁa
£
| 11

e
el

ATwggTEIa,

TTEHIA G T

THGTITTHLET

1)
2)
3
@)
(&)

T, 72, faemae

ToeTad, Irg-heamr, BHR
Tig, YU, HER

T2, g, JqG-HeAmT
SR T

E P U SE—

T

VALESSS W HAIASOONSS BRI Ton SRS esladt e Y ienn

B .

10

D L AN VAR SRS T SR SRR 80N BRSSP 883 A LS.
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35.

36.

Identify the Raga by following
points : -

i.  Vadi-— Tar Shadaj
ii. Chanchal Prakrati Raga

1. Use of Sarag Ang

iv. A type of kanhda

(1) Sohni (2) Darbari

(3) Adana (4) Basant

(5) Question not attempted

Identify the Raga :

I NRND--R--SNR--G
MGR-

L. RSNDN-M-DN-RSN
DN- |

I II

(1) Marva , Puriya

(2) Puriya , Sohni

(3 Sohni , Marva

(4) Puriya , Marva.

(5) Questi'on'not attempted

Which Ragas are respectively

depicted by the underlined parts of
the following phrases of Raga
Chayanat ?

(RGMPMGMRS,

PPSSRSDPSSRS,

(GMDPMPGMRS

(1) Goud, Nat, Bilawal
(2) Bilawal, Shuddha
Hamir

Goud, Shankra, Kedar
Nat, Durga, Shuddha Kalyan
Question not attempted

Kalyan,

3
4)
()

49




37.

38.

39.

40.

49

o 7 — i, e, . B ) ST,

i g aftfa g ?

1 T St 1 wﬁam‘m
il Ui iv ﬂﬁ!’ﬁ

v. Gifid Aie

(1) i, il (2) AL, v v

(3) <had i, ii, iii (4) e i, 1i, iv
(5) I SR

]

‘gﬁlaﬁw—maﬁww#ﬁaa&m’m: '

FE ?

(1) 9w — Ty — A1raes g
() Hifees 9] — 0¥ — 9
(3) T — e 9feE — Ty
(4) T — AT — HITEH U
(5) g S

; 38.

frfRaa difias ® 3% Yed UeH |

forsqor * snfe = STgER Sed A § W
Hifre -
i. PEgErR

i, A HE

1v. W‘iﬂa‘

Q) i i, i, iv Q) v, iid, i, ii
Q) i, iv, i, 1 (4) i, iv, i, 1
(5) IrTTRd TR

SR T 35 5B b = B
i aiwwm i wewWMC
i dEEM v, aEE R

(1) Had i, ii, iv -
(2) <had iii, iv
(3) <had i, iii, iv
(4 =i, i, i, iv
(5) TG A

11

39.

40.

In which texts the ‘Shruti names —
Teevra, Kumudwati, Manda....” are
mentioned ?

i.  Rag Tarangini

ii. Sangeet Darpan

1. Sangeet Parijat

iv. Dattil

v. Sangeet Makrand

(2) Only 1, 1v, v
(3) Only i, 11,11 (4) Only ii, 1, iv
(5) Question not attempted

What does ‘Shruti Darpan — Rag
Darpan and Sangeet Darpan’
denote respectively ?

(1) Instrument — Treatise -
Monthly Magazine

(2) Monthly Magazine — Treatise
— Instrument

(3) Instrument — Monthly

Magazine — Treatise
(4) Treatise — Instrument -
"~ Monthly Magazine
(5) Question not attempted

Select the following musicians in
ascending order according to the
year in which they received ‘Padma
Vibhushan’ :

i.  Shiv Kumar Sharma

ii. Ram Narayan

iii. Mallikarjun Mansur

iv. Kumar Gandharva

@ ii,miv @) v, HL, L1
(3) iii, iv,ii,1  (4) 1ii,iv, 111, 1
(5) Question not attempted

Select the types of ‘STOBH of
Vedic period :

i. Varna Stobh ii. Pada Stobh
iii. Tala Stobh iv. Vakya Stobh

. (1) Onlyi,ii,iv (2) Only i, iv

(3) Only ii, iii, iv (4) All1i, i, 11, v
(5) Question not attempted
: = |




i 41. Which of the following statements

is false 7
(1) The name of ‘Bhgsha Janak

41. FAfGfEada s T A FEIE ?
(1) TNTSH W % 9 YieerEm 2 |

RS Sr—

o i T i Ragas’ are masculine.

(2) I, = T % T i . (2 The name of Bhasha,
SferEarEt § | : : Vibhasha and Antarbhasha

: ey Ragas are feminine.

(3) reFwrE W 5 qYl ARG e A 6 (83) Mention of 5 Gram Ragas in
-1 &7 3oai Natyashastra and 6 in
yjrq i : 3 i Nardiya Shiksha is found.

(4) wfd e 7 “vga-um” 3R § (4) “I%Ihadtfjgram” and .

e - e y - “Madhyamgram” are the
sl HIFE-TIE | Gram-Raga of Shudha Geeti

5) NG T ! in Sangeet Ratnakara.
®) - 3 - () Question not attempted

42. @itq wTiETa 6 gfa-r e & % | 42. Which of the following statement is
T R 7 false as referred to the Shruti-

1
i  Swara System of Sangeet Parijat ?
(1) 22w TW%WW 4, i (1) The place of 7 swara on 22
7,9,13,17,20,22% |

shruties is 4, 7, 9, 13, 17, 20,
22 respectively.
(2) Hlddi W 22 fowd W H Ieoi@ 2 | (2) 22 vikrit swara are mentioned
(3) Tord = 4 s gfa diw- gd @
gl I — HHer” TR FEAm 2 |

on shruties.
(4) doMF AR T 731,33?!? 51%1%@?

(3) The swara is called ‘Purva’

- before one shruti and is called

‘Komal’ before two shrutis of
their original position.

o 1 T 14 SR Ve A LA 4 R 143 T Sp—

s i (4) 7 Shuddha and 5 Vikrit
femE | n swaras are placed on the wire
(5) 3raRd S of Veena.

(5) Question not attempted

43. 3.3R St @ % Rt 1 =2 Hifv ; 43. Select the disciples of Ut. Alladiya

VLA T8 MUAANES Wik 4 T e ik s PR

i O Khan :

ii. S U9 Greielienl i.  Kesar Bai Kerkar

iii.  fafd ga1 aeES ; 1. Vaman Rao Sadolikar
iv. SRR ET THA f . Nivratti Bua Sarnaik
1) FaEi - iv. Bhaskar Bua Bakhle
©@ ¥IFdi i : (1) Onlyi

@) Fawriiom ,f (2) Onlyi,ii

(@)l &) s i g g;f ; lil;iuilv

(5) 3T TR ] e

(5) Question not attempted

= |
[y
N
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T T L T Ay W T o e | T =L W TN T

44. Yg - S FH 8 Wd g, ESERC i 44. Keeping the seven shuddha-swaras

45.

46.

49

Y% T h TgH HFH AR 964 W A
B: g g1 91 €l 9 & Y
gl § ¥ B: g § | Ffafea 38 w1
o721 % Jicid i § oTe T A ?

A, FAEEd B. &N =

C. THl D. @

E. ¥Ra F. focme«

(1) A, B,ETuD

&  D.E

3) A BC,DTME
(4) A,B,C,D, EdmFasdi

(5) JFFARA A

fraffas 8 & gar % 3 w1 T
ENECE

A, T@

B. wig@

C. ed

D. fuams

(1) A,BanC (2) B, CauD
(3) DaNE (4) A BTME
(5) TN S

I 8 T et g gr ghia e 2
i TAgUE
i, WoT T

iv. Tfﬁ‘TT‘ﬁ'&ﬁ

() i, 18 v (2) 1, ii, iii
(3) i, ii,iv (4) i, iii, iv
(5) I S

:
L]
3
'
i

45.

46.

(1) i, i, iv 2)

in a sequence, considering each of
these ‘swara’ as ‘shadaj and
ascending ahead, thus the six
‘murchhnas’ we will get are the
same six ‘thaats’ out of the ten
modern ‘Thaats’. Indicate those
thaats out of the following which
do not fall under this category :

A. Asawari B. Khamaj
€ Kah D. Todi

E. Marva - F. Bilawal
1 ABE&D

(2) D,E

3 ABCD&E
@4 A B,C,DE&FAI
(5) Question not attempted

Indicate the ‘Angas’ of Dhruva),
out of the following : :
Mukha

Pratimukha

Pravrit

Tripataka
Kartarimukha

A, BandC

2 B,CandD

(3) DandE

4 A, BandE

(5) Question not attempted

sEHDQEP»

Which Ragas are created by Lal
Mani Mishra ?

i.  Madhu Bhairav

ii. Shyam Bihag

iii. Mani Ranjam

iv. dJog Todi

1, 11, iii

By LB 1V

(5) Question not attempted

(4) ii, iii, iv




47.

48.

49.

i wo § fopdt 912 & @l § HiEd
R I i a1 H B HEA FET UR
Sler HEar 2 17

I FRmEEER e @ #i ufe
mﬁw%aﬁﬁﬁqmmﬁﬁa
BT ?
Q) ool
3) =

(5) AN TH

Wwﬁ%@n&mtﬁam
%1 3T hifs

A, ARFE W HSRY

B. #imeaisa giffay

C. ITSRR IId ATl S

D. e gfiaised

(1) %aa B

(2 BaumC

(3) A BaaiC

(4) A, B, Caur Dot

(5) FgaRd IH

(2) HEET
(4) <A

“0 99—, | { 9 -, 39 @Ee $1
uaﬁnﬁtrﬁ:lﬁaﬁmwh%amﬁ%m
SE
A. BEME
C. Mg
(1) %I« C
(2) BaurD
3) A BwamC
(4) wadA

(5) FIARd 9=

B. W
D. T

14

S e

SPLLRBSLIBS LR Yk 5 T A S L VLR A3 TS 1S

B R p——

TP N ——

48.

(3) Tod1

49.

“In Senia tradition, changing the
notes of a Thaat from Komal to
Teerva and Teevra to Komal is
called ‘Thaat Loutna’”

Which ‘Thaat’ will be created by
the “Thaat Loutna” of Asawari
Thaat according to the above rule ?

(1) Purvi (2) Marva
(4) Kalyan
(5) Question not attempted

Indicate the books written in
Sanskrit language by Bhatkhande :

A. Abhinav Raga Manjari
B. Shrimallakshya Sangeetam

C. Ashtottar Shat taal
Lakshanam :

D. Abhinav Sangeetanjali
(1) Only B

(2) BandC

3) A,BandC

(4 A,B,CandD All

(5) Question not attempted

The phrase “P P S -, SRS = i8
used in the ‘Antras’ of which of the
following Ragas ?

Chayanat

B. Kedar

C. Kamod

D. Rageshri

Only C

Band D

A, Band C

Only A

Question not attempted
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50. WA@UE § ‘FHoAU-HA-S=E-TE I

i ey oo Wl % AR W g 2

fra 9 9 s A -
A,  TEH afa

B. <haci U dig HEIH Jeord 0T

C. GRFI HeaH e W
D. YW afdd W

(1) BawC (2) BaaD
(3) A@uB (4) A BunC
(5) I A |

51. Trfefea # gufea $Hie -
A. HEIOT FHT1 i GRIS

B.aifsg et wig i, &A1

C. TS IR i iii. o4 ¥ &
D. aFEA iv. {OHTE
%

X B QP
@ i 0 hediie
@ i i i v
@)caiv T iR
@) i i

(5) ARG A

52. Tyefafiad a2 feg Sffag A gafa g 2

() 9RW ¥ foar ared e
(i) =REH AT R

(iii) == Fehtst 3§ i - e @

(iv) BRAIFET 9esh Gl gemie

@
(1) Y= 9y
(2) AT il @H
(3) ITHHR =T BT
(4) S IAM Al T@H
(5) ST FH

49

% i

S

:
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50. On the :
Bhatkhande has

52.

basis of which notes,
classified his

‘Kalyan-Mela-Janya-Raga’ ?
Indicate out of the following :

A
B.

C.
D.
ey
3
®)

A. Maharana i

Madhyam-Varjit Raga

Only one Teevra-Madhyam
containing Raga

Containing both ‘Madhyams’
Pancham-Varjit Raga

Band C (2) BandD
Aand B (40 A, BandC
Question not attempted

. 51. Match the following :

Author Book

Sangeet Raj

Kumbha

B. Wazid Ali Shah 1ii.

C. Raja Chakradhar ii.
Singh

D. Tansen iv.

Banm
Nartan
Sarvasya
Ragmala

Codes:

@
2)
3
@
®)

AR €7D
1 e v
1 g

- BE B 1

b =¥

Woiir Lo Bl B
Question not attempted

Following facts are related to
which musician ?

@
(1)
(ii1)

(iv)

eY)
(2)
3
@
(®)

Initially played Sitar
Associated with new theatres
Music director in Bombay-
Talkies

Disciple of harmonium player
Khushi Mohammad

Panna Lal Ghosh

Mushtak Ali Khan

Omkar Nath Thakur

Bade Gulam Ali Khan

Question not attempted
8]




53.

54.

T bt gafera IR -
ER L. 3@1#[15?%&
W@t I 3@l 8 ared
EE| 1. 4 @ref 10 dwer
= IV. 2@ 7wt

B P oW p

& By Cab
PS IV E CHFCH
O H IV I 1
Bfef H H N

rHE T IV acH

(5) TFARA A

fr=farRaa =1 gafea Hif

A e aednfl L
HINA HH

B. %0 91 H1 9
HIE B |

C.@HN ¥R HT ¢
HIAA Y

D. ¥t gre 3§ ¥ dig
LCRTRF-Lack:

L

EarCibT
IL. 39 g et
111 @i

IV, 9 9wt

Algse o
.1 V8
@) sl TV 1
@ VIR 5
@ Jidk G 1Y

(5) AN 9

i
1

VA VOB 5SS ¢ A 4 R 8 1 AR 9 AR T L

orna3 Vo 2 e s s

[ ——

LS Taa it AR WSS Tk

=
(-2}

o4.

i 53. Match the following :

A. Brahm I. 3 khali15tali
B. Laxmi II. 3 khali8tal
C. Matt ITI. 4 khali 10 tali
D. Rudra 1IV. 2 khali 7 tali
Codes :

&R € oD

1) IV I Bl
&M IV - I
O ko HE TE TV
(- I Vil

(5) Question not attempted

Match the following :
A. To become Ga 1.
Ni Komal in
Bilawal thaat
B. To become Re
Dha Komal in
Kalyan thaat
C. To become Ga
Dha Komal in
Khamaj thaat

D. To become l\ha
teevra & Ni
Shuddha in
Bhairavi thaat

Codes :

A B €D

-1 - NenlkH

2y IH - H

SY- IV Bk

@ - 1H-1

(5) Question not attempted

Kamvardhini
II. Shubh Pantu
Varali

I11. Kharharpriya

IV. Nat Bhairavi

49




55.

56.

57.

49

faferfiaa a2a fra wiia S gefta € 2

() Thar i fen geayie™ @ g 4 |

(1)
T <6l e a6l |

(iii) TR 3ol Hedd — 49% TG @ |

(1) 3Tege &l S Gl

(2) FFEdEH

(3) FARTE

(4) waETe

(5) IHITRd A

AR (A) %&ﬁsﬁmﬁaﬁm
TR g a1 2 |

&R (R) : rmaﬂnqaﬁrﬁmaﬂma
B4 g ol I IR TFe
fensman g |

1) (A) IR ®)HI TR |

@ A)TAIRR)TE@R |

3) (A)3RR)IHI T E |

(4) (R)T& 3R (A) T 2 |

(5) AR 9
Freferfiaa =1 gafea A -

-4 TR
A W 1. faw
B. ®Rdl II. 3Mwig 3Tel @l
C. TUs@msw@r I wreEmr g
D. ghum IV, scongERE
5

A OBAEE P
@ OE Erew
@ M IV I 1

(3)=: 1L} I icFVoe 3
A IV hod BE B
(5) ITFANA A

T’ ¥ gue aun ‘oeh g8 A

i 55. The following facts are related to

;
i
i

i

T s e AN T 5 08

AR S i s KBS T AR AR 3 TSI TR0

R S G i WSS TSRS

rinmm i s ey 3 b
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56.

57.

which musician ?

(1) Received the training of sitar
from Vallabhdas.

(i) Received the training of

Dhrupad from ‘Raoji’ and

Khayal from ‘Ali Hussain'.

Associated with  ‘Gayan

Uttejak Mandal — Mumbai'.

(1) Abdul Halim Jafar Khan

(2) Inayat Khan

(3) Kumar Gandharva

(4) Bhatkhande

(5) Question not attempted

Assertion (A) Bahutva is
performed by Vadi-Samvadi
swaras in any raga.

Reason (R) Despite being
Anuvadi in Raga Bhimpalasi,
the Pancham-swar is treated
as “Abhyas-Mulak-Bahutva”.

(1) (A) and (R) both are wrong.

(2) (A) is correct, (R) is wrong.

(3) (A) and (R) both are correct.

(4) (R) is correct, (A) is wrong.

(5) Question not attempted

(111)

Match the following :
Vadhya-vrind Composer
A. Mehar I. Ravi Shankar
B. Karvan II. Amjad Ali Khan
C. Ektake I11. Lal Mani Mishra
Swara
D. Srishti IV. Allauddin Khan
Chakra :
Codes :
A-B.€ D
(5 Tyl T { B 11 S 1T
Nl
(8) 11 3 ¥ "IN /]

@ - I e ik
(5) Question not attempted




59.

60.

RO (R) : 3R ©F & &R F T

AT B, a1 TR GRI R W& 3l

AT HITH <hl 31 Hehell € |
(1) (A)Teaza R)TEE |
2 A udiga®) TR |
(3 QIR THTEIE |
@ A)FIR)SHI TR |
(5) FIE yH

i % ey T D 91 HYF T TG 2 ?
i’ 1 TIH TE &, S IR IR A
B SR |

(2) Sl H =e &1 =& fF T g |

(3) Hfd § %0 & %H @9 37 84 & -
Yeotdl, AqToedl agT =T |

(4 Ffa - za, w=, feifss =
Snfferctfera wfi ol 5 R < 2 |

(5) IIARE 9 ~

ANFHE (A) : wWa & ‘@-‘m § g
ARNF TR “fure” sl AFET ama
Ll foead S @ s E |

ST (R) : foemaar 9R & &R WA %
NI~ i T JEe @ |

1) Q)@E2a R) TR |

@) AIRTEFEE |

(3) R)FHA2T(A) TR |

4 AMI®CHTEEE |

(5) ITFafd w

!

i LT TP —

940 T1eMBE N TR LASE R TS 8 Yotk s

WIS WAL ) VAT WL Y SABIAPRDS Y53 e

WA Tt
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: 3R Sf’f 3 & it i 58. Assertion (A)

59.

: 60.

: If we know the
frequency of two swars, then
the fraction can be calculated.

Reason (R) : If we know the
length of one swar, then
length of the other swar can
be measured by fraction.

(1) (A) is wrong and (R) is correct.

(2) (A) 1s correct and (R) is wrong.

-(3) Both (A) and (R) are correct.

(4) Both (A) and (R) are wrong.
(5) Question not attempted

Which of the following statement is

not correct regarding ‘Kriti’ ?

(1) ‘Krit?’ is the same as ‘khayal’
in North India.

(2) Neraval is used in Kriti.

(3) Kriti consists minimum three
parts — Pallavi, Anupallavi
and Charan.

(4) Kiriti is sung in all the ‘layas’
like — Drut, Madhya, Vilambit
and Ativilambit.

(5) Question not attempted

Assertion (A) : The notes of
Bilawal will appear if
“Nishad” is considered as an
initial note in Shadaj-Gram of
Bharat.

Reason (R) : Swar of Bilawal
thaat is Rajani Murchhna of
Bharat’s Shadaj-Gram.

(1) (A)is correct and (R) is wrong.

(2) (A) and (R) both are correct.

(3) (R)is correct and (A) is wrong.

(4) (A) and (R) both are wrong.

(5) Question not attempted
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61.

62.

63.

49

frm wfaw B Frefaed o @
 forafir e v 2

G-I 6 @R, THas-IM % @i 4 ; 61. The swara of tempered-scale are

R | Peffe i A @ |
FRw S-S Ei AR |

i
t
:
i
H

(1) Had A (2) Ad=B
(3) A, BamD @) wHa@C

(5) IgeIid TH

i
;

ko

X g v e #§ o T - 7 e ;
e B W i e % e T e |
BT 7 '
(1) i gt i
@) wEa
@ o '
(4) Hearl

(5) ST SR

e R S S eSS Ve R

(A) i TR
(B) Hfta THTH

LSS TS WA SRS WA ] T A5 A AL

(C) i Hrdve N}

D) & fe Humgs o
(1) T =R 7 : |
(2) FHHR Y I

(3) FVNME dlsd

(4) TSI AT FACTHLSA
(5) FIANA T

A HEAl %
B. &1 :
D. w=H

62.

63.

19

higher and lower than the sounds

of natural scale. Indicate the

‘swaras’ which are lower than the

‘swaras’ of natural-scale :

A

=B

C.
D

ey

®

®)

Komal-Re

Shuddha-Re
Shuddha-Ga

Pancham

Only A 2 A&B
A B&D (1) OnlyC

Question not attempted

Which ‘raga of ‘Poorvi-thaat’ will

-
appear by adding the phrase “Ma

| 2
Ga Ma — Ga” to the phrase “Re Ni
Pha Pa” ?

1)
(2)
3
4
®)

Pooriya Dhanashri
Basant

Shree

Multani

Question not attempted

Which musician was awarded with
the following titles ?

A)
®B)
©)
)
@)
()
@3)
@

®)

Sangeet Mahamahopadhyéy
Sangeet Prabhakar

Sangeet Martand

Honorary Degree of D. Lit.
Raja Chakradhar Singh
Omkar Nath Thakur
Krishna Rao Pandit

Balkrishna Bua
Ichalkaranjikar
Question not attempted




64. FH=fARga gia-Ter-TH, qeaq-T™ 6t i 64. The following  ‘Shruti-swara-

65.

66.

fore “g=aT’ Hi WA & 7
£3589 2:4; 37

(1) i

(2) s
(3) HeATHal
(4 IgHA=n
(5) 3FTRG 5H

WY 39 % IER, “ﬁmaﬁ‘%&mﬁr
# forat gfa a2 2

(1) fegfos

2) Brfas

(3) =gfa

4) weHfch

(5) FgARd gH

cfolt wifia B *F o Hfa 108 wii 7
108 T H Fag 2 7

1) TgHe

(2) Areehite feremen

(3) e

(4) IS IR

(5) FARATH

o e T s e a9

&

4 o
@)

@
®)

(1)
@)
@)
@
®)

SRS TPLBREY B ka4 T 5 T 1A D e PSR 0140 P S 9B S T S W B i 8 4 TS

M
@)
@)
I @
i ©
20

sthana’ represents which
‘Moorchhna’ of Madhyam-Gram ?
24347243

Sauviri
Harinashva
Kalopanta

Shudha Madhya

Question not attempted

65. How many ‘shruties’ does a
‘Nishad’ have in its ‘Kaishikatva’,

according to Sharang Dev ?

Dvishrutik
Trishrutik
Chatushrutik
Shatshrutik

Question not attempted

66. Which South-Indian composition is
composed in 108 ‘Ragas’ and 108

‘Taalas’ ?

Aittu Kad

Natakaadi Vidyala
Panchratnam
Pannagendra shayanam
Question not attempted

49




67. w1 faard =X %1, I % 3199 ; 67. Rule: (1) The Vivadi swara must

pp—

[ ﬁ%gam . - have an interval ofi—g
i from its regular
I BHT 3ESS 2 neighbouring swara of
> ' Raga.
2) forandt TR 1 Ha i W | (2) The Samvadi-swara of
F BT IS 2 | : the Vivadi-swara must
: be present in that
37 Frm o AR i 1 foehey 9 T | Raga.
i Which option is false according to
27 , the above rules ?
: (1) Raga — Vivadi: Ni
() WiseK - e ﬁh‘:ﬁqﬁ Kedar Komal
@) wiew - foErd T FHA (2) RagaDes — Vivadi:Ga -
Komal
3) WER ~ fEd:fwEa (3) Raga — Vivadi: Ni
i Gunakri Komal
@) TEm - e Age (4) Raga — Vivadi : Ma
i Yaman Shuddha

(5) IrgaRd I

i
‘ (5) Question not attempted
%

68. m (A.) :H@é’ﬁi—‘iﬂm ﬁalﬁiil § 68. ASSEI'tiOn (A) . ‘Shudha_swara-

YE-TR-FH a1 & g, = : saptak’ described in
HATARI B2 | . Chaturdandiprakashika is
Teaa s i the same as of Swaramela
S i e Kalanidhi.
SR~ H wfeford fopan e @ | I Reason (R) : Ramamatya’s
1) (A)ar R) i T E | : i treatise is considered as the
_ \ : | : base-book of South Indian
2) (A)TITHGR) ITAR | ° Mesois:
(3) (A) Tl (R) oHi 3@ § | (1) (A) and (R) both are true.

(2) (A) is true but (R) is false.
(3) (A) and (R) both are false.
4) (A) is false but (R) is true.

(5) Question not attempted
49 21 o

@) A)FEATTRIR)FAR |
(5) IrFEIRd T




69; YT I 4 Gged Wehel o (o @l i 69. Indicate the sign of staccato used

70.

SR

e Hif

T Re T W
TRe T O—
T Qe T O—

B.

C.

e
> ®
e

(D
(2) AwaC
(3) BawC
-(4) A, Byt C weft

(5) T

s (A) @I AT A F-Fed 9

Afd 1 AR T R Teg: T
qAIR |

SR (R)
Gl 1 3T B & T, THT TR
%1 qugfoeh 2Tt TTevEs AR |

1) @@ ER)EFFAE |

2) (W)IFITHI(R)I@AR| -

3) (AU (R) <HI IEAE |

@) (A) Tt Ty ®) TR |

(5) TR T

. 99 F HaT 4 9 J¥yaEr 13 |

|

L R T epp—

22

70.

in western notation :

ﬁ
r

—-—

B.

sof
IS

- Fif

(1) Omnly A

(2) AandC

(3) BandC

(4) A, B and C All

(5) Question not attempted

Assertion (A) Bharat and
‘Matang has not considered
‘Ma-Nv’
despite the interval
shruties between them.

Reason (R) : Bharat and Matang
have considered it necessary
for both the ‘Swaras’ to be

‘samvad’

of 9

to be a

‘Sam Shrutik’ along with the :

interval of 9 or 13 ‘shruties’.
(1) (A) and (R) both are true.
(2) (A)is true but (R) is false.
(3) (A) and (R) both are false.
(4) (A)is false but (R) is true.
(5) Question not attempted

49




71. IS J AHEA Hl fHE IUMY d FHTHG

72.

73.

49

feran
1)
(2)
3)
@
(®)

?

wefid R

HUSTUETT faem™

i T9Te
et fyRmfor
AN TH

i

i
i
i
i
i
1

i
£

L 79,

gganﬁafwﬁmgtﬂt—mmﬁaﬁé

l ?
(1) eRIABEAFE (2) HeAUEFHMHG
(3) FEAYTE (4) THEHR
(5) i S
% o s %1 9 A g :
i ufceNH AR  a. ®L3. GEH
il FgARE @A b. A @I
iii. fore] HEW™ c. HATI
iv. $AR Y d. s HERS
%
1 11 111 v
(b hante d
2y b &8 d
B8y-—b c d a
46 b n d
(5) IFFTNG TH

i

23

*E

73.

Which title was conferred to

Ta
(1)
2)
3)
(4)
(5)

nsen by Akbar ?
Sangeet Shiromani
Kanthabharanvani Vilas
Sangeet Samrat
Kala Shiromani

Question not attempted

Rag Hameer-Kalyani was created

by
by
(1)
2
3)
4)
5)

Muttuswami Dixitar influenced
which North-Indian Ragas ?
Hameer and Chayanat
Kalyan and Kamod
Yaman and Bhupali
Hameer and Kedar
Question not attempted

Find out the correct match of
Shishya and Guru :

1.

111

1v.

Shishya Guru
Mallikarjun a. B.R.
Mansur Deodhar
Abdul Karim b. Manji Khan
Khan
Birju Maharaj c. Kale Khan
Kumar d. Achchhan

Gandharva Maharaj

Codes :

@
)
3)
4)
®)

il il iv
a c d
€ a d
ot a
b .a d

Question not attempted

Oy e S




'f4. S T — g 7 91 IS fi-ars ot &1 | 74. Interval between Shuddha Ga —

75.

76.

- (5)

FHaUe He wgfa # fea @ 2
1) 112¥e

(2) 204T2

(3) 182%e

(4) 301%e

(5) ~ FTIRa S

TETE % 32 91E §, 3 B § Ye AT

I U E, W weEs f T ur
S # 01 7 81 35U off SNy SR
IR Tfta & s 3 i lim wi e ?
A, ghfEd

B. wmafif

C. a=®fa

D. farh

(1) AT9D

(2) BauC

(3) el A

(4) *aaD

(5) 3FTRG T

i 2 35 T B e i A @
fopaeft ot e 21 Tt 2 '
() 1757

@ 35

3) 25

@ 5

TR I

i
!
i
|
|
i
|

i
i
f
i

75.

76.

@

Shuddha Ma and Shuddha Ni — Sa

in cent system 1s
(1) 112 cents
(2) 204 cents
(3) 182 cents
301 cents

Question not attempted

(5)

Among the 32 ‘Thaats’ of
Bhatkhande, which are those
shuddha madhyam based ‘Thaats’,
which are not considered in the
‘ten-thaat’ system of Bhatkhande,
but are popular and prevalent
ragas in modern North-Indian
Music ?

A. Dharmavati

B. Kamvardhini

C. Vachaspati

D. Kirvani

(1) AandD

(2) BandC

(3) Only A

(4) OnlyD

(5)  Question not attempted

How many Talas can be prepared
from Triputh Tistra Jati Talas
with the effect of Gati Bheda ?

a1 175

)35

3) - 25

(D 5

(5)

Question not attempted
49




[

77.

78.

79.

49

eI & are gei-11 1 faem Sifsr 3k

%2 ! T § Hal ST 1 G hIH
g Fe-I1

A. FI TR i IPguE o
B.@Ei @R i, SEURIWE o
C.wEde® i fwma ¢
D. TRl TR iv. TR Y9E

e :

AccuBl 5 @QaElD
(i3 5 R0, (e o GEORE i Fb |
2 - 1v . m i 11

(B B I

(4} i - IV 13
(5) ATING I
el 9E 9w e W % el o
frefafRaa fasmedl & @ 9dt 3w &1 w797
S -
Rt wE ™
e fop 1L
G) g - WS
(i) W — I
Gv) 9@ - |

(1) <ad (i), (iv)
@) e (@), (i)

- (3) 9 (@), (i)

(4) S (i), (iii)
(5) IFIRG SA

- ififeh ¢ ST HEUYH IaT R SR ?

(1) ToHES
(38) @TU«

(5) FEERE T

) qFhEHEl
(4) SISt

i i
i
i
i
i

i

77.

78.

79.

Match List-I with List-II and select
the correct answer by using the
codes :

List-I List-II
A. Ansh-swara i. Anubhav
B. Samvadi swara ii. Sanchari bhav
C. Anuvadi swara iii. Vibhav
D. Sanchari swara iv. Sthai bhav

Codes: ;

& B -G B
€1} 3 v I
2y ™ iIm I ®m
() B v ®W<73

4 1 ) T S
(5) Question not attempted

Select the correct pairs as referred
to the Sthai Bhav and their Rasa

. from the following options :

Sthai Bhav Rasa
(1) Raty — Shringar -
(i) ‘Krodha® — Bhayanak
(111) ‘Shoka’ — Karuna
(iv) ‘Bhaya’ _ Vibhatsa

(1) Only (), Gv) (2) Only @), @)
(3) Only (), @iii) (4) Only (i), ()
(5) Question not attempted

Who invented “Yogik Swar” for the
first time ?

(1) Helmhotz

(2) Luigi Russolo

(3) Les Paul

(4) Deesorji

(5) Question not attempted




80. YSI-UEH I AN (240 — 360) = 120 i 80. The swara obtained due to the

3 T S = e 26T ¥ i Shadaj-Pancham’s difference - tone
i - e s (240 — 360) = 120 is “Mandra-
ek hI YgH; el NgS-HEH HI i Saptak Shadaj’, whereas Shadaj-
9f¥es (240 — 320) = 80 8, 31d: 98 &M : s Madhyam's difference - tone is
_ : (240 — 320) = 80, hence it will be
1) g ; : ‘ (1) ‘Ati Mandra Madhyam’ .
(2) #HgH=EH : (2) ‘Mandra Madhyam’
@) Tz : , (3) ‘Mandra Shadaj’
: , (4) ‘Ati Mandra Pancham’
@) 3w v 3 s (5) Question not attempted
(5) FaRd g |
81. Match the following :
i Swara Raga
81. fm=feiRga =1 gafera il
= A.GaMaPaNi I Patdeep
S W Sa Ni Dha Pa,
A naufymifigy, I WM Ma Ga Re Sa
i : 3 B.ReGaMaPa II. Shyam
- DhassPa,Ga  Kalyan
B.17MHYYSST, I1. ¥ e , . Ma Re Sa
TRIE b C.GaMaPaNi, IIL Nat Bhairav
C.yauf, gf=mify L LA C I e L
i ﬁ’li‘m Dha Pa, Ma Ga
A ; Re Sa
D.199, 999, 1qY, V. dAgem 1 D. Re Ma Pa, Dha 1V Bhimpalasi
HEASL i Ma Pa, Ga Ma
%2 : g Pa, Ga Ma Re
' Sa =
B & = 5 ‘Codes :
(D IV~ E ] ' a AR €D
@ I 0 I v ! N 0L 1 B
: 3y IV HE §I I
@an , @HE Vv FE H
(5) I I 3 (5) Question not attempted




- 82.

1.

ii.

N

1
@)
3
@
()

83.
(1
(2)

3)
(4)
®)

34.

s § oy Ffeea s E 8 7

shIhigS

1, 11, 1

v, v

i1, 111, iV, V
1, 11, i1, 1v, V

FAIG TH

‘@H’ﬁﬂﬁﬁﬂ%:

Saaat g g
T # T % e S
Y B &

e

AR TR

SN IH

JA9H Hiel #, ‘AE-g¢ 5 faHE 5 f

iffasii 3 geE o g 7

oW p

(1)

2)

3)

4

®)
49

forouy g et

Sifer Hgal

A AH
e

Adui B

Baui C

A BauiC

A, B,Ca?anﬁ _
ST T

82. Which cartilages are located in the
' larynx ?

| i Arytenoid ii. Cricoid

| ii. Thyroid iv. Diaphragm

; v. Glotis

b o i

@) iv,v

l (3) ii,1ii, iv, v

L @ i iy

. - (5) Question not attemptéd

g

. 83. ‘Stom’ means

(1) ‘Mantras’ used in. the prayer

% of dieties

: (2) Letters used apart from the

‘mantraksharas’ of ‘Samgaan’

: (3) Gandharva

g (4) ‘Narashansi Gaatha’

§ (5) Question not attempted

i 84. In the present times, which

' musicians have contributed

; towards the development of

- ‘Vadhya-Vrind’ ?

Z A. Vishnu Dass Shirali

| B. ZubinMehta

; C. Anand Shankar

l D. Lal Mani Mishra

L . () A&B

i ) B&E

i ® ABEC

: 4) A B,C&DAI

’ (5) Question not attempted

27 O




85. facmact @ wefua @&l @& #I $Fa ; 85. Point out the correct facts related

EAEDE i to ‘Bilawal :
A, Tyl A A. Sampurna-Jati
B. osmEd W a3 oft § ot o ot | B. Madhyam is used in the
ExGRA | ascent and omitted as well.
D. wMd-cn-17um,y TITR the name ‘Belawali’.

i D. Inthe ‘Poorvanga’ “G-RMP

11— SEet <1 AT |
G,DPRGNSR - phrase is

|
4
|
|
C. ‘Soadl 9™ 3 I Id § Iooi@ | | C. Mentioned in the old texts by
(1) A, B, Caa D&t

used.
,(2) AWD (1) A, B,CandDAll
oS Bear : (2) AandD
Ll I & ABaac
(5) JigaRE ¥ ; (40 A, CandD
E (5) Question not attempted
86. WIAEUS G fid HTHI-YTe F I TH | |
el TR W H A TH R ’ 86. One of the specific ‘Raganga’
(1) =@l (2) | ; originated from ‘Kafi-thaat’ .
Yol kL
! Bk H G o R
i e . g‘ﬁ%ﬂ aﬁﬂ%rq . ; (5) Que.stion not attemp.ted
AR L ; 87. Match the following according to '
A. FEY 1. eI : ' Maharshi Bharat :
B. 79X ii. ’fﬂ? : Swara Rasa
C. 999 S era : A. Rishabh i, Karuna
D. faq v, e . ] B. Gandhar 1. Shringar
3 : | C. Pancham iii. Veer
o . D. Dhaiwat iv. Vibhatsa

A sB:CoEID
=i i Sy
@) i iy
(3) B
) 1o iy T

(5) AN IRT

A B CDD
Gy H oo
@) i o.i i v
S e eGP Oag

—~
o
p—

4 1 i.° W ri
(56) Question not attempted

n ]
N
®

49



88.

89.

90.

49

“guygi—-9-9— Rugagn—g a1y
g9 a1 — T, 98 TEe! e T Sl
T 8 ? ~

(1) TR HFES (2) WHidl HEST
(3) TMeweeR  (4) faem

(5) FITARG S

EHIE -3 9 Heia 72 6l 3 iR

A [gavg anEAe-3m2 |

B. foem &1 w-ggg - “Runa
. @ Hl feaman g | s

C. 17w, v @Am-3m $I A

-T2 | "

“TPgYL -, T—F —,” @l

Y @A 1 31 S HIIeH & |

e A

AdYUiB

A BauiC

A, B, Caen D g+t

SN T

MY T § YE-F0T 6 HH ° WE
MBS ? -

A. NI 9wm, <Hi fAvie Te Sad 3o
B. <l g, had Ug g saw
casw 5 :

C. <Fi e, Shad g e, ARE-
TSR ST H G T 9 d
A, B, Caen D &t :
A BauiC
Bau C
+ad B

AR 9=

D.

D)
2)
3)
4
(5)

D.
@
@)
@)
(4)
(®)

B AR ———

29

88.

89.

90.

=1

The swarawali - “MPS—P N —P
—~NPMPG-M,GMPMRSR
— S” depicts which ‘raga’ ?

(1) Nayaki Kanhda

(2) Kaunsi Kanhda

(3) Gaud Malhar

(4) Tilang

(5) Question not attempted

Point out the facts related to

‘Khamaj-Anga’ : -

A. ND MPD,M G is Khamaj-

Anga. :

“N P GM G” phrase of Tilang,

depicts Khamaj.

C. RGP, RRP is the specific
phrase of Khamaj-Anga.

D. Many compositions of khamayj

starts from the phrase — “G M
DPR -S5,G-M-".

(1) Only A

2 A&B

3 A, B&C

4 A B C&DAI

(5) Question not attempted

Which forms of Shuddha-Sarang
are found in modern scriptures ?

A. Both Madhyam, both Nishad
and containing ‘Dha’

Both Madhyam, only one
Shuddha-Ni and containing
‘Dha’ in descent

C. Both Madhyam, only
Shuddha-Ni and use of Dha’
in aroh and avroh both

Both Madhyam, Both Ni,
Both Dha

(1) AABC&DAIl (2) A, B&C
3 B&C (4) Only B

(5) Question not attempted

B.

D.



91.

92.

93.

e gt - R w e

TYHE AR S S —-a HE

$1 TR I9EI I e ¥ SHF 91 W 3=
B 7 :
(1) =i sE

(2) WG HT

(3) TeHw

(4) wfear §@

(5) IrgaRa g+

ARE ¥ Yg-7T, e § HHA-T, HeH
91 Ao et S 35 et & e 2
@ S
Q) S
(3) SNERE

(4) =gd

(5) g I

W Mg -Hegr § -3 2 :

(1) wHy,@ig,igHy

(2) ™WHaUyg g

(3) IWMIFM-T4,INH -,
HUgH 99T,

(4) wHu-u Padenay,maaT-,

(5) IFaNd WA

N 1 P T

P aana w8 e ana T

TS S S —

30

91.

92.

93.

Poorvang of gunkali — Sa Re Re Ma

Re Sa

Uttarang of Madhmaad Sarang —
Pa Ni Sa Ni Pa

Which Raag originates by combining

these combination ?

(1) Bairagi Bhairav

(2) Madhmaad Sarang
(3) Nat Bhairav

(4) Bhatiyaari Bhairav

(5) Question not attempted

Identify the
characteristics of ‘Shuddha-Ga’ in

the ascent, ‘Komal-Ga’' in descent,
Madhyam-Shuddha, ‘Dha’-Komal :

(1) dJog

‘raga’ having the

(2) Jaijaiwanti

(3) Jogkouns |

(4) Basant

(5) Question not attempted

The ‘Gaud-anga’ in Raga Gaud
Malhar is

(1) GMR, SRS, RPMP

2 GM MP PD DN

(3) RGRMG-RS, RGM—, MPDSDPM,
(4) GMD-P, NDMPGMR, SDDP-,

(5) Question not attempted
49




94. ‘@ iB-99,9WM I AT Ig waedt | 94. SRN-DP, DS R M G is the

95.

96.

49

frE T Tds 2 ?

1) faemE= 2) ﬁmgr_

(3) Te=md (4) TS Heal

(5) IFEIE T

eafRea A d s wga gafea 2 7
TR = WY

1) '-i—g = 170

2) —g—é = F12

(3) % = 90

(4) % =6099

(5) 3gaia T

AR (A) : T T § e

© Yad BH % SR, g9 & S

UTE 16! i & Yeeid o1 i U2 7=
fo s |

W(R):rquaw,mgﬁaﬁlosmﬁ%
FA-d ] AT 2 |

(A) @& (R) S a2 |

A) TA TG R) FEAR |
(A) 7@ (R) SH1 38 £ |
(A) 3 8 Y (R) T R |
FANE T

1)
@)
3
C))
®)

31

95.

96.

‘swarawali’ of which raga ?

(1) Bilawal (2) Bihagda

(3) Jhinjhoti (4) Gaud Malhar
(5) Question not attempted

Which of the following option is
correctly matched ? :

Fraction = Cent Value
@ i—g - e
(2) -g—(l) = 1kx
(3) %i_g = 90
4) %2‘ = 22
(5) Question not attempted

Assertion (A) : In Raga-Patdeep,
due to the predominance of
‘Dhanashree-Anga’,
Dhanashree’s ‘Thaat’ Kafi is
considered as the ‘Thaat’ of
Patdeep as well.

(R)

doesn’t fall under the modern

Reason Raga-Patdeep

ten — ‘thaats’.

(A) and (R) both are true.
(A) is true but (R) is false.
(A) and (R) both are false.
(A) is false but (R) is true.

Question not attempted

(1)
2)
(6))
@
()



97.

98.

99.

am % ‘g wym %1 TH, $9 9 ®iaw
HAE ?

iii. S iv. @9y

v. @ia

(1) e i, ii, iii

Q) Hadi

(3) e iii, iv, v

@) =i i, i, iid, iv, v

(5) Figaia ¥

frfefaa @ <5 1 faswes gafem 8 7
wi = Je-Fffa T

1) F+fwm = FefaEm

@) 2 + T = gl facrie

@ W+l = sk n

(4) I +HIgeT = A¥hHI Hgel

(5) rgafd

fras wa SR, fawe, e awn
Tl wE ga @ i st q—amﬁg
SR AR 7 o

1) wHF (2) T
(3) WIS (4) wEeeHe
(5) 3gTING T

32

S T A 7148 P YTH R A TS Y5 e S A g8 VAR RIS WA B A W

s

T e T TS ————

9%,

©
o

99.

Which ‘Ritwizs’ perform the
‘Nidhan’ part of Saam ?

1. Udgata ii. Pratiharta
ni. Prastota iv. Shatpath

v. Swarit

(1) Only 1, 11, 11

(2) Onlyi

(3) Only i, iv, v

(4) Allj, i, 1, iv, v

(5) Question not attempted

. Which of the following option is

correctly matched ?

Ragas = Newly
Composed
: Raga '
(1) Nat + Bihag = Nat Bihag
(2) Devgiri + = Devgiri
Bilawal Bilawal
(3) Chandra + = Chandrkouns
' Kouns
(4) Nayki+ = Nayki Kanhda
Kanhda
(56) Question not attempted

According to whose opinion, Rasa
is not produced but is created by
Vibhav, Anubhav and Sanchari
Bhav ?
(1) Shankuk
(2) Abhinav Gupt
(3) Bhatt Nayak
(4) Bhatt Lollat
(5) Question not attempted

49




100. T6T 98T -
“qaitt $Hg: T IO SRR |

HEAY: TIHA! 91E], FT:hiel guaaeH, 11”7

1 9@
(3) 3IERIE
(5) AR 3

(2) FEE -~
(4) S b

101. T “feerr & = § 3fe Fm=fafea
wna%@lﬁsﬁ%a‘rmﬁﬂmwﬁ

1 B fewrs ot 2
LShE W
i wgf A = fasm
ii. 9H7 B. feemrer
iii. mgiﬂm € ey
i 0 il

y-iA° SO
@ B € A
a3y €2 & B
e B A
(5) G A

102. Frfafaa famgati gr W ve=ny 2o
() aR-gaE T M ‘
(i) affa:l4
(iii) e : H9, a7
1) ®EAwER () faem
(3) fa=nd (4) 7 fomm
(5) gaa s

49

RSP RRSUSI———

33

100.

101.

102.

Identify the Raga :

“Purvange Bhairav: Spasht Uttrange
Haripriya

Madhyam: Sammato Vadi, Prathkale
Suraktidam”

(1) Bhairav

(2) Nat Bhairav

(3) Ahir Bhairav

(4) Bairagi Bhairav

(5) Question not attempted

If the following “swarawalies” are
added to the notes of Raag “Bihag”,
then which other ragas will be
revealed respectively ?

Swarawali Ragas
3. EEEN A. Nat Bihag
i P 1\’4 G B. Bihagda
- f{ ng G M C. Maru Bihag
¥ B n
(I A B -C
2. B € A
316 A B
@y € B K&

(5) Question not attempted

Identify the Raga by the following
points :
(i) Vadi-Samvadi: GN
(1) Varjit:RD
(iii) Main phrase : NP,GM G
(1) Megh Malhar
(2) Tilang
(3) Jhinjhoti
(4) Nat Bihag
(5) Question not attempted
= |




103. I g1 :
T g HiFd, Wi — 3fied,

SR —

qrel — 51

(1) et (2) HeHeRR,

(3) TERERT  (4) FWHE

(5) TG A
104.aﬁ$érﬁa£llimaﬁw%"lﬁaﬂg

Hf :

A. 39 i W

B. ufeq i, i
C. 3t iii. WfdER
D.fR  iv. fdw=d

1)
2
3)
4)
®)

105. freiiies 3 @ o1 R iR TR 7
_ facrtaar

(1)

A B €D
e s TRRE

e TR e
T e ik

1 Tee TR

1v 1
FANa T

E_HH_13E'F”
==l adon

@)

3

4)

®)

M-1f--1f
g —-—,I7-9—
EREEE:
MY, A —-|qT -3
m,i‘mg~-—1jm,
T—gI-d ‘
LES- PR &: & S
q@,iqI9——H —
-39

AN S

— ft RE

| i

— e fagm
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103. Identify the Raga :
G D Komal, Jati — Audhav,

Vadi — M-S

(1) Abhogi

(2) Megh Malhar

(3) Madhumad Sarang

(4) Chandrkouns

(5) Question not attempted

104. Match the terms of Vedic music

correctly :

A. Yam 1. Stobh

B. Bhakti ii. Ranayniya

C. Shakha iii. Pratihar

D. Vikar iv. Atiswarya
A B € D

() v B in W

(4 280 21 R i

(B3 e 31

@) v 1 i ¥

(5) Question not attempted

105. Which of the following option is not

correctly matched ?

(1) R--S— RNS - Bilaskhani
= h-C &
-G-R-S

2 S- RN—--—P N — Bairagi
=g R M-P Bhairav
—NP M RS

3 RGMP,M-S - Nat
—~RS,RSD--  Bhairav
NS,G-MR-
S

(40 RRP-— RM - Nat Bihag
R--S,RMR
P-—-M--RS

(6) Question not attempted

49




106. T et it TXrEed! “Gr @ g TH | 106. Which other ‘raga’ will appear if

107.

108.

49

321 T el ] HEH T&@d gUUSH &

'mﬁaaﬂﬁq{mmmmﬁm?

(1) e
(3) =r
(5) IR w

(2) EHNE

(4) heR

feafafga i a s g fawea &, 1 — 1
m@%‘f%?
(1) 270-360
(2) 300 - 400

(3) 240 —320
(4) 320 — 480

(5) 3IFEIid A

qUY,AFT Wﬁ?ﬁﬁﬂﬁiﬁéﬁmﬁ
& fopert] SR B & 7
A W

B. udf

C. fagm

D. YaW-%Heam
(1) @D

(2) %adA, B, C
(3) wHa@ B, C
(4) @A B,C,D
(5) IAFENG S

35

107.

' 108.

the phrase “S N S D E R” of Raga

Jaijaiwanti is rendered by keeping
the
presenting it from Pancham’ ?

(1) Kamod = (2) Khamaj
(3) Hameer (4) Kedar

same swar intervals and

(6) Question not attempted

Which of the following options does

4
not contain the Sa — Ma 3 interval ?

(1) 270-360
(2) 300 -—400
(3) 240 - 320
(4) 320-480
(5) Question not attempted

PMP, GMG’ phrase is used in which
of the following ragas ?

_ A. Paraj

B.  Purvi

C. Bihag .

D. Shyam-Kalyan

(1) OnlyD

(2) OnlyA,B,C

(3) OnlyB,C

4 AllA,BC,D

(5) Question not attempted




109.

110.

111.

w1, $ie, e SerR E -
1) H=H

(2) YEUANIIh

(3) =TS

4) Fe-IEAH

(5) i v

frafafes # & =9 @ feaw g,
fem whmel % gEa ubEn gkmE
aiaR & Heiftr T B 7

(1) ST o sl

(2) g1 wieger gfaas

(3) i Tes ufawm

(4) THg = SfH

(5) 3TN ¥

[t 5 e S E e
Y T U A ITe] 0T bl ST o -
6 T B. EF

2 @rei! D. guer
4 aret F.
A CEF
A B CE
B,C,D,E
A, B,C, D, E, Fusi

a9

A
C.
E.
(1)
@)
3
4

®)

12 9@ -

T ——

109.

110.

111.

Letter, email, telegraph are

examples of
@
(2)
3)
(4
(5)

Message
Feedback
Channel

Encoding

Question not attempted

Which of the following teaching
model is not related to the family
of information processing models of
teaching ?

(1) Inquiry

Biological Science

Model
(2)
3
@
®)

Inquiry Training Model
Advance Organizer Model
Group Investigation Model

Question not attempted

Indicate the characteristics found

in common between Ektal and
Chautal :

A. 6 Vibhag B. ‘Khayalangi’

C. 2 Khali D. ‘Dhrupadangi’
E. 4 Taali F. 12 beats

(1) ACEF

2) A BCE

3 B,C,D,E

40 AB,C,DE FAI

(5)

Question not attempted
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| 112, yuEh &9 @ Rigw geEw-qmih % 398 | 112. Which of the following is not
¥ fou fafafga & =9 & wrifa

recommended as a strategy for

! 3:;331%3 TR ? i using teaching aids effectively ?
; (1) S H TR = NI Bl T ‘ (1) Allowing students to handle
| ! materials themselves.

: 1 (2) Integrating two or more
() = Ak Mg faferi =6t whiswa | ) = <
i teaching methods.

T | | |

(3) Using too many materials in a

3) @‘s"rmﬁagamﬁm;ﬁwé

single lesson.

Structure

. | (4) Selecting materials according
(4) e <t e 3R feufd & Irgar ? " to classroom background and
- mﬁwm | ; context.
(5) 313?[&?7 T : (5) Question not attempted
r |
113.ﬁ1=r%'&§ﬁﬁ@ﬁrwuﬁmq‘t%;mﬁu§r : - :
: : | 113. Which f the following is th
s q;{ﬁ?ﬂwq‘gﬁ ﬁ:[ i ich one of { ollowing is the
R correct option, including all the
Hizg? i
: basic elements of teaching models ?
(1) eewd, §ET, HEGH o, i (1) Focus, Syntax, Social System,
HERS OISl s Support System
;
) 3@3}1, u@'ia;;, 'é’{%[:]’[, G ; (2) Focus, Evaluation, Syntax,

(3) 3I¢|@, AW, UEIGH YU, |
‘ | (3) Focus, Experiment, Social

System, Support System

(4) I, T, TEISH, HHTSRS JoTed! (4) Focus, =~ Syntax, = Purpose,

(5) Nﬂﬂﬁﬂ BT 5 Social System

(5) Question not attempted
49 37 ]




e na

114. F=fafiga @ 3 <= o foeen Airedm =1 | 114. Which of the following is not a type

Th TR T8 & ?
(1)
(2) TTfheR SRR
(3) e

(@) ArRfen Rrem

115.

116.
R R 7

(5) I SR

ﬁm%ﬁaaﬁ@fﬁqmatmaéa(ﬁgz
feamea) T 2 2

(1) TR (2) s

(3) WHIK (4) TR
(5) et e

ffafRea § | =M € HgHrl AR H

(1) TE SRISHT 51

2) o

(3) Tufta stferm

(4) foenefi ooz 3uerfey fovrem
() e S

115.

116.

of system software ?

1)
@)
3
(4)
®)

Compiler
Presentation graphics
Utility

Operating system

Question not attempted

Which of the following is not an

Input device ?

(1
3
(5)

Which of the following is not a

Scanner (2) Joystick
Monitor (4) Microphone

Question not attempted

Co-operative Learning strategy ?

(1
()
3
(4)

®)

Group project work

Jigsaw

Blended learning
Students-team achievement
divisions

Question not attempted

49




117.

| 118.

49

119.

B HERAT IS IGIH % el |
aﬁaﬁﬁammﬁ@ammﬁa
27

(1) e ey g W

) TramEm sHaeE fagia ®

(3) UIgdrd % HEYH g W

(4) TR & ThHIeeT o Hgid |

(5) Irgid w

w el Wi B F R s
SRS 1 TR BT B | T8 FIYX
T SferT <l fore T 61 ook eI R 7
1) g

@) FFE™

(3) Teo1wd =

(4) ST GHEE

(5) 3TN I

FFCATHS U b fore womeft IuEm H
Tt <R 35 Gt B H1 = I

i iiem SyE 6 FeHT ST

ii. Jenfcuss gfsanati 1 Afehed =M1
111.

1v.

m*ﬁﬁWQW@%mﬂm@w

[ERI=RE]
1) ivoilll—>lU—2>1>V
(2 Mm-oivou->1 -»v
B) iv—oii—i >V

o ivol =il 5V

SFARA e

(4)
(5)

117. Under

the Computer Assisted

Instruction, programmed learning
is based on which theory ?

(1)
2
3
(€Y
®)

Classical conditioning theory
Operant conditioning theory
Pavlovian conditioning theory
Vygotsky scaffolding theory

Question not attempted

118. A student uses a virtual lab to
conduct experiments. This is an

-119.

example

of which computer

assisted learning mode ?

@
(&)
3)
4
®)

Tutorial
Simulation
Drill & Practice
Problem solving

Question not attempted

Select the correct sequence of

stages involved in system approach

to instructional design :

L

1.

1v.

1
@
3
@
®)

Planning  the learning
experiences

Designing process alternatives
Identifying input specifications
Specifying the output

Try out and implementation
of the system
ivoill—il>1-2V
il—>ivoil—>1 >V
ivoili—>1 20>V

i ivoi »il >v
Question not attempted



120.

121.

122.

freferfiga 3 i a1 gm gafaa T 2 2
(1) a9 6 gaF fa - =
(2) FWHADBIfaOUH  — el
(B) TATEIHABIETHE — T8
(4) TEIHIAGE B ITAH  — I
qREY -
(5) 3FFRa A
fegwarht @fid % 10 9@l = Hed 4 %A

/A FYTHA B/ 7

i. Wwwg@'mﬁﬁ@é
T FYE AN BT R | :

i, AN % Y W P HeEW 91-99H

FEE AT H R |

s Aegm gaa 9 H Yg MG

FAETEF 2 |

I-Ngmae d s LA g

FIETEF 2 |

&I i

+9e i, iv

whae 14, iil, iv

a4l 1, 1, iii, iv

K E LGSR

(A) : TF T TR H WEY JEAT
Iefey o TR H1 & HH
ST T8 el & | .
(R) : &4 ‘Tmi’ %@5040‘@1
TR B E |

(A) g 79T (R) 39T 2 |

(A) 38 a1 (R) TA & |

(A) 1 (R) THI T & |

(A) 71 (R) 3HI 39T ¢ |
ARG T

111.

iv.

@
@)
3
@
®)

(€Y
()
3)
4
®)

120.

121.

122.

Which of the following pairs is not
matched correctly ?

(1) Equal speed of — Laya
time

(2) Division of — Kala
Akshar-Kaal

(3) Starting pointof - Grah
Taal :

(4) Smallest scaleto — Yati

measure time _
Question not attempted

(5)
Which statements is/are true in
reference to the 10 Thaats of
Hindustani music ?

i.  Only one form of swara either

Shuddha or Vikrit is used.

ii. Each swara of Poorvanga has
its Madhyam or Pancham-
Samvadi in the Uttaranga.
Shuddha nishad is essential

11l.
in the Thaat containing
Teevra Madhyam.

iv. Komal Re or Shuddha Ga is
essential in the Thaats
containing l\l/I—N.

(1) Onlyi

(2) Onlyii, iv

(3) Only i, 11, iv

(4) Alli, i1, 111, iv

(5) Question not attempted

Statement (A) : In Taan, knowing
the form of ‘prastar is
‘Uddisht’ and knowing the
sequence number of ‘prastar’
is called ‘Nasht’.

Statement (R) : Both ‘Gram’ have a
total of 5040 ‘swar prastaras’.

(A) is true and (R) is false.
(A) is false and (R) is true.
(A) and (R) both are true.
(A) and (R) both are false.
Question not attempted

(1)
@
3
4

®)
49




123.

124.

125.

126.

49

(3)

T AR AR HIHA TS 7

(1) GDAE 2 EGDA
3) ADEG 4 DGEA
(5) IIgaRa T
frafafiga @ w7 @1 fawen o= 9m@-
SITehi H1 HYE & ?

(1) 3w TG, $65 e, T oM
(2) IFAEA, HS HENS, TG @l

HSHCR
(4) 3FHSIE A @i, 3HeEIE ©1, B1.%. TR
(5) TG A
dleaifid & die-dEl 6l s9Ee &
Frefafaa & yeri % FgER T fqu
e w1 gafera Hifve :
@) 58 v AR T 9¢ It @ 9
gall I 1 Y Gell T e |
(i) 2 dFI ANTEE A HGI SR |
(iii) TS Tk 3R @1t 7 T 2 a0

T ARV FH e SE w2 |
dTel : :
A EH B. %

C. TH D. =&
@ (i) (i)
(1) AB ., €D, EF
2y, CE Ab —BE
3 CE BD - AF
4 AF CD BE
(5) g ¥¥
TGS g mmin T TR - ﬁ
T oA 2 ?
@ SR B DI
@ Swia o) Wiaos
(5) HALING A

U=TeTTe T, R SR, ﬁ1;

41

123.

124.

125,
- instruments of folk music given

126.

What is the sequence of the four
strings of violin ?

(1) GDAE 2 EGDA
3 ADEG 49 DGEA

(5) Question not attempted

Which of the following options is a

group of different instrumentalists ?

(1) Ayodhya Prasad, Kudau
Singh, Ramshankar Das

(2) Anokhelal, Kanthe Maharaj,
Habibuddin Khan

(3) Pannalal Ghosh, Hariprasad
Chaurasia, Ronu Majumdar

(40 Amjad Ali Khan, Imdad

" Khan, D K. Datar
(5) Question not attempted
Match the following percussion

below according to the three types
of their structure :

(1) Where one side is covered by
leather and the face of other
side remains open.

Covered with leather from
both sides.

Where one side 1s covered.
with leather and the other
side remains closed.
Instruments :

(11)
(i11)

A. Khanjari - B. Duff

C. Huduk D. Damru

E. Dukkad F. Taasha
(1) (i)  (ii)

(1) AB . CD EF

2} €E - AD BB

3 CE BD -AF

4 AF CD BE

(5) Question not attempted

What 1s the correct writing of
SSRG of Bhatkhande notation in
N

Paluskar notation ?

() SSRG (@ S8S8BG
® S8SRBG @ SSRG

(5) Question not attempted



127. Frafafa s @ gm g =R ¢
1) FER - eI
e I e L
@) vEEd - g

127. Which of the following pairs is not
correctly matched ?

(1) dJalore — Dhol Dance
(2) Bharatpur — Bam Dance
(3) Shekhawati — Geendad Dance

s ek o1 Yo et

@ el - wEEIH o (4) Karouli  — Bhawai Dance
(5) IAAd 9= (5) Question not attempted
128. ﬁﬂﬂﬁgﬁ%ﬁﬁq - E 128. Match the following :
List-1 List-I1
-1 ' -11 .
A @ a. Gair-Nritya 1. Pramelu

a. M@ 1 J@ImAFEAGH used in

T Nritta-Anga
b. Tifeflaren 11 < Il ‘wreader | b. Mohini-Attam II. Related to the

: : Al ; ‘Bhagwat-
o Hefta
. Mela’ folk

c. FRYSt  II1. haet Ferti grr feam - | style

EEEIIER | ¢. Kuchipudi ITI. Only women

. present this

d. HYUH IV. et 351 g feean st

ST el 7 | d Kathak IV. Only men
He: fo present this

| : dance
& B caa Codes : ;

(I MES HE FVEE0L | a: b ¢ d
@IV OF I .1 R
3y 1 @V Fi J1 ) IV BE IE ]
amd vy fany R
(5) i (5) Question not attempted

129. ‘TR TWH § G M H TR i 129. Who is the composer with the pen

wHE? : | name ‘Sabrang’ in ‘Agra’ Gharana ?
1) o2 e e i 3 . (1) Bade Gulam Ali Khan
: . | (2) Tasadduk Hussain Khan

() wEEgs g
(3) T 3euTH @i
(4) TH.G. TYaset

(5) FARATH =

o 42 : 49

(3) Gulam Abbas Khan
(4) S.N. Ratanjankar
(5) Question not attempted



130rf%¢r—g'mexérﬁt?r“aeﬁ:ramsm a?r

131.

132.

39T forl yem <l 2
(1) et &4

(2) AT T

(3) wfouuil <t IEvEw
(4) Toarr et

(5) 3FIRG

TR G99 % AR §gd %H § T&E T
HHE 1 S i |

(1) Fere, T, SIS, HIeThd -

@) RE, e, fogm, =
(3) wTEt, WTcTeRIE, YUTEl, SRR
(4) <R, ST, I, FerEl

(5) ITFTRA

w9 (A) : m—nﬁl:hmmﬁnmﬁa 5

T eI A2 |
w4 (B) :mm'wﬁaﬁgaﬁng

T e g |

133.

49

(A) 93 a1 (B) #EE 2 |
(A) 3Ea 741 (B) T2 |
(A) 71 (B) GHI T ¢ |
(A) 71 (B) GHI FEA ¢ |
HAARA T

frfafiea fea feeg § aftfa fﬁ CIC
FAFTE S ?

(1) e, $UEi (BT, '@g@%)
(2) SF, U (Uea d vddl, o-gEt)
(3) T, HIgH (SeHTHR, ql-qEl)

(4)  3reiire, feema (S,

gft o)

FAaRd g9

(1)
(2)
3)
4
®)

®)

130. To whom, Ravindranath Tagore

132.

133.

3

gave the title “Queen of Kathak” ?
o)
2)
3)
@)
(5)

Shaswati Sen
Shobhna Narayan
Rukmini Devi Arundle
Sitara Devi

Question not attempted

. Indicate the correct group of Raga

in the increasing order according to

‘time-theory’.

(1) Vrindavni, Yaman, Khamaj,
Malkouns

(2) Bhairav,
Yaman

(3) Bageshri, Malkouns, Bhupali,

4)

(5)

Deshkar
Deshkar,
Vrindavni
Question not attempted
Statement (A)
Male Raga
classification.
Statement (B) : 9/8 and 6/5 two
intervals are used in
prevalent Raga Malkouns.
(A) is true and (B) is false.
(A) 1s false and (B) is true.
(A) and (B) both are true.
(A) and (B) both are false.
Question not attempted

Vrindavni, Bihag,

Bhairavi, Yaman,

: Malkouns 1s a
in Rag-Ragini

(1)
2)
(3)
(4)
(5)
In which of the following options,

the two instruments mentioned are
not similar ?

(1) Taasha, Kundi (Bowl shaped,

One faced)

Deru, Damru (Thin in the
middle, Two faced) :
Dhol, Maadal (Cylindrical,
Two faced)

Algoja, Chilgoja (Flute-like,
Wind instrument)

Question not attempted

2

(4)
()




134.

135

136.

frafafea o rgaue ?I'IF'ﬁ %I 3@
shifre ;-

(1) Tedw, dldre

(2) eI, Bram

(3) du=dl, A

(4) faearet, Brare

(5)

. T M F IR d AT A da @i i

3w I ad-ar 3 FEEER ket
F0 W PR 337 T 3 AR
g1, g UEATHT :

() YETHWARYEL

(i) TEHSYHEWdTH

(i) TG T % TIH R HHAT

{l:
A @™ B. @S
C. 9w D. U™
E. #efewm  F. sist
(1) AED 2 BCE
@3 CEF (40 AEB
(5) SIgARE S
ﬁwwmaﬁawﬁﬁﬁqﬁﬁm
A R 7

R iC) I Ca|
(1) 91—y ,7 HI—H
@ 153t
Cilel e T
(@) —fosil) poieg
(5) 3TN A

i
f
l
:
i
!
i
i
i
5

134.

e

135.

Indicate the ‘Ardhsampad Taalas’
out of the following :

(1) Ektal, Choutal
(2) Kehrwa, Trital
Deepchandi, Jhumra
(4) Tilwada, Trital |
)

Identify the ‘Arohi-Swaras’ of those

Question not attempted

- other ragas which will appear "if

136.

_the three swaras ‘G M P’ used in the

Aroha of Rag-Bihag are changed
one by one as given below :

(i) Shuddha Re in place of
Shuddha Ga

(ii) Teevra l\lia in place of
Shuddha Ma ;

(ii1)) Komal Ga in - place of
Shuddha Ga

Raga :

A. Des B. Khamaj

C. Bhairavi D. Patdeep

E. MaruBihag F. Bageshri

(1 AED @2 BCE

3 CEF 4 AEB

(5) Question not attempted

On which swara, the ‘Andolan’ is

rendered in Raga Bhairav and
Malkouns ?

Malkouns

Bhairav
(1) S-P , S-M
EyB Bieh) G D
@F:G=D il G=N
@ M-B , Gp=8
(5) Question not attempted
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B, AR

187%. waavhmﬂ%%a?«hwﬁa 3 137. In which type of folk song of

138.

139.

140.

49

YR H I A8 ?
(1) TRE=<
@) Fi
(5) ITTRT FeH

fra vRdE Tias ® B TWHR gl
g AT 13 R AT I1eE we e’
O © GG T TR R 7

1) .15

(2) FHsIE el @f

(3) i< =

(4) efome SRfE

(5) SIFART S

TER WA 9gid H “Hg 9w
Hie dad” forg &1 w@ e it
FHHAATE ?

1 € @)
@ 4)

(5) IaRd T

T % qaiT § yge S W % SR
, Frefirfea 3 @ i & 7w gifed 7
A E - JemeHt AR '

B. YU — G

C. fagm-—wm=

D. HAehig — SrEht

(1) A, B, C,Dai

@2 B,CaaD

@) A BanC

(4) A,BauiD

(5) 3FAINE 9

(2) W
(4) i

|85 +] 29

!

i
i
i
i
s

138.

139.

140.

Rajasthan is the description of
Camel’s adornment found ?

(1) Gorband (2) Ghoomar
(3) Kurja (4) Kajaliyo
(5) Question not attempted

Which Indian musician has been
awarded the ‘knight of the order of
arts and letters’ honour by the
French government ?

(1) N. Rajam

(2) Amjad Ali Khan

3) V.G.Jog _

(4) Hariprasad Chaurasia

(5) Question not attempted

What is the correct way to write
“Komal Dhaiwat of lower octave” in
Paluskar’s Notation System from
the following ?

(1) Dha (2) Dha
|

(4) Dha
Question not attempted

(3) Dha
(5)

On the basis of the ascending notes
used in the Poorvanga of ‘Ragas’,
which of the following pairs are
correctly matched ?

A. Des — Vrindavni Sarang
B. Bhupali — Deshkar

C. Bihag— Khamaj

D. Malkouns — Bageshri
A, B,C,Dall
B,CandD

A Band C

A, Band D

Question not attempted
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- 145.

&)

fg-9e & I=wid g BRI THE
siife § fee e T a2 2

(1) WS, qemr (2)  Hemwn, g
(3) wurl, wrgsht (4)  wigsH, Sadt
(5) 3FFaiE A

T T “HEAH UM dad’ W & -

@ Byl @) =qgfn

3 vl (@) foufes

(5) AN T

‘G WIGH I A3l gRI foha S
TS AR &

1) et @) =S
3 @ | -
(5) 3FFTRA A

“Toamdl T & Ted A %9 91/3 U g
3/8 ?

i e e A e A |
i T e el TR A S
TEI 2 |

ii. foard @ w1 @I 3@ W A
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141.

142.

143.

144.

145.

Which of the following ‘Jatis’ are
combined to form the ‘Shadaj-
Kaishiki’ Jati, under Jati bhed ?

(1) Shadji, Madhyma

(2) Madhyma, Dhaiwti

(3) Gandhari, Shadji

(4) Shadji, Dhaiwti
(5) Question not attempted
‘Madhyam Gramik Dhaiwat’

according to Bharat is

(1) Trishrutik

(2) Chatushrutik

(3) Panchshrutik

(4) Dwishrutik

(5) Question not attempted

Folk dance performed by the
women of “Kamad” community is :
(1) Teratali (2) Kachhi Ghodi
(3) Gair (4) Ghumra

(5) Question not attempted

Which statements is/are true in
the context of ‘Vivadi swara’ ?

¥ Vivadi swara is omitted in the

Thaat.
= ; : 16
ii. It is at an interval of 15 from

any prominent swara of Raga.

ii. ‘Samvadi’ of Vivadi swara is

definitely present in that Raga.
Only i (2) Onlyi,
All 1, 11, i1
(5) Question not attempted

The name of the shrutis of
Gandhar and Dhaiwat in shuddha
swar sthana according to ancient

(1)
(3)

texts and modern music system are °

as follows respectively :

Ancient Modern
(1) Raudri- and Raktika—
Ramya Rohini
(2) Raktika— and Raktika—

Ugra Aalapini
(3) Krodha— and Raudri-

Ramya Madanti
(4) Raudri- and Raktika—

Ugra Madanti
(5) Question not attempted
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146.

147.

148.

149.

150.
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146.

150.

@3)

Indicate the Raga of Bilawal Thaat
wherein both the madhyams are
used.

(1) Alhaiya Bilawal

(2) Bihag

(3) Shuddha Sarang

(49) Gaud Sarang

(5) Question not attempted

. Which term has Manjarikar
mentioned as a ~synonym of
‘Murchhna’ ?

(1) Swarit (2) Mela

(3) Raga-Jati (4) Alankar

(5) Question not attempted

. Point out the ‘Shadjantar-Samvad’

out of the following :

(. 8 8 2 S-P
3 S-M @ S-G
(5) Question not attempted

. Which statement is not correct in

the context of ‘Shadaj and

Madhyam Gram’ ?

(1) By descending one shruti of
Pancham in ‘Shadaj-Gram’, it
becomes ‘Madhyam-Gram’.
Difference of five saverts is
found between the ‘Panchams’
of these two Grams.

Interval between ‘Panchams’

of both Grams is known as "2%)'

@)

(4) This g% interval is known as
‘Limma’.

(5) Question not attempted

Who is the creator of “Ekata mein
Shanti” orchestra ?

(1) Amjad Ali Khan

(2) Pt. Ravi Shankar

(3) Vilayat Khan

(4) Vishwa Mohan Bhatt

(5) Question not attempted
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